Cell type : 38120P Capacity : 8AH
No. Cycle Step. Mode Step Time (Sec.) Time (Sec.) Current (A) | Voltage (V) | Voltagel (V)
1 1 1 CcC 0 0 0 3.35 3.35
2 1 1 CcC 1 1 200 2. 38 2. 38
3 1 1 CcC 2 2 200 2. 36 2. 36
4 1 1 CcC 3 3 200 2.35 2.35
5 1 1 CcC 4 4 200 2.33 2.33
6 1 1 CcC 5 5 200 2.3 2.3
7 1 1 CcC 6 6 200 2.29 2.29
8 1 1 CcC 7 7 200 2.29 2.29
9 1 1 CcC 8 8 200 2.26 2.26
10 1 1 CcC 9 9 200 2.27 2.27
11 1 1 CcC 10 10 200 2.26 2.26
12 1 1 CcC 11 11 200 2.26 2.26
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No. Cycle Step. Mode Step Time (sec) Time Current (A) | Voltage (V) | Voltagel (V)
1 1 1 CcC 0 0 0 3.31 3.31
2 1 1 CcC 20 20 40 3. 06 3. 06
3 1 1 CcC 40 40 40 3.04 3.04
4 1 1 CcC 60 60 40 3.03 3.03
5 1 1 CcC 80 80 40 3.04 3.04
6 1 1 CcC 100 100 40 3.04 3.04
7 1 1 CcC 120 120 40 3.02 3.02
8 1 1 CcC 140 140 40 3.04 3.04
9 1 1 CcC 160 160 40 3.03 3.03
10 1 1 CcC 180 180 40 3.04 3.04
11 1 1 CcC 200 200 40 3.04 3.04
12 1 1 CcC 220 220 40 3.03 3.03
13 1 1 CcC 240 240 40 3.02 3.02
14 1 1 CcC 260 260 40 3.03 3.03
15 1 1 CcC 280 280 40 3.02 3.02
16 1 1 CcC 300 300 40 3.01 3.01
17 1 1 CcC 320 320 40 3.01 3.01
18 1 1 CcC 340 340 40 3.01 3.01
19 1 1 CcC 360 360 40 2.99 2.99
20 1 1 CcC 380 380 40 3 3
21 1 1 CcC 400 400 40 2.99 2.99
22 1 1 CcC 420 420 40 2.97 2.97
23 1 1 CcC 440 440 40 2.96 2.96
24 1 1 CcC 460 460 40 2. 96 2. 96
25 1 1 CcC 480 480 40 2.94 2.94
26 1 1 CcC 500 500 40 2.92 2.92
27 1 1 CcC 520 520 40 2.92 2.92
28 1 1 CcC 540 540 40 2. 89 2. 89
29 1 1 CcC 560 560 40 2. 88 2. 88
30 1 1 cC 580 580 40 2. 86 2. 86
31 1 1 CcC 600 600 40 2.82 2.82
32 1 1 CcC 620 620 40 2.8 2.8
33 1 1 CcC 640 640 40 2.76
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34 1 1 CcC 660 660 40 2.71 2.71

35 1 1 CcC 680 680 40 2.67 2.67

36 1 1 CcC 700 700 40 2.6 2.6

37 1 1 CcC 720 720 40 2.48 2.48

38 1 1 CcC 740 740 40 2.26 2.26

39 1 1 CcC 753 753 40 1.99 1.99
No. :29647 Lot:

Ir after discharge:

Discharge time :753 ¢
Room Temp. :32°C
Cell Temp. :37-57C
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Lot. : IC15
discharge :3.5mQ
time :1lsec.
:32°C

:37°C
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IC15

3.6mQ
sec.
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